RECITATION: WEEK 4

Ay
1. Review Topic

(a) Write an equation of the line tangent to the graph of f(z) = % atzr = 277/ 3.
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(b) On the same set of axes, make a sketch of f(x) and the tangent line from part (a).
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(c) Does your answer in part (a) seem plausible given your sketch in part (b)? Explain.
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2. Weekly Exponential / Logarithm Practice

(a) Determine whether the equalities below are true or false. Explain how you can remember

which is which.
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(b) Logarithmic expressions can be rewritten as an exponential expressions. (See example below.)

-

loglo A = Bis equivalent to 108 = A

i. Rewrite each logarithmic expressions as an exponential expression.

logy, A = B |is equivalent to ZB = A

is equivalent to e/B = A

ii. Ineach expressionbelow, find y by rewriting the logarithmic expression as an exponential

expression.

logy 35 = ¥ 1n@4'76} y logjoy =1
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9/——5 y=4.76 y=/D

In the following problems, you will practice the simplification skills needed to efficiently find
derivatives in Section 3.3 and 3.4.

3. Write each expression using a single exponent with z in the numerator, if possible.
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@) 22" = xﬁ-"-b (e) (a and b are integers) Vb = X
(b) 20 +20  (nothing Fo do) by
ab (f) (a and b are integers) (¢/z)? = X
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4. Write each expression below such that z has a single exponent and so that z is in the numerator.
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5. (3.3#110)Write this expression so that fractions are not necessary.

> - -
: = X —Z_xé+x{

3 2
X —%‘i‘

6. (3.3#113)Expand and simplify this expression so that no z’s are in the denominator.
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7. (3.3#115) Write this expression so that fractions are not necessary.
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8. (Write this expression so that fractions are not necessary) (xff—il) = X Cxq-l— l)
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9. Identify which of the following equalities are true and which are false. For the ones that are false,
give some reason. For the ones that are true, do the algebraic steps that demonstrate this.
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b) ViTr=2+vi  |—. Try X=-3.
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Manipulating Fractions

10. Identify which of the following equalities are true and which are false. For the ones that are false,

give some reason. Fer-the-enes-thatare true de-theatgebraicstepsthatdermonstrate-tivis—
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(€) (33#114) B=2om — 1y2 1y x T

() (3#115) Ldeze® _ 1,8 a2 g T

@ 2 =ae -D=1-2

4 R4: 3-3 & 3-4 prep



